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NIz K £ NET HDCP TOTAL ouT I'N OUT NET Iz K 4 NET HDCP TOTAL ouUT | N OUT NET

BB gl 69 29 98 ( 53 45 ) 385 72 B WmEE= 66 16 82 ( 38 44 ) 300
260 BHH EE 70 26 96 ( 46 50 ) 33.0 20 fFiE BX 69 15 84 (41 43 ) 33.5
3 I BuE 71 22 93 (47 46 ) 36.0 3 KEF HA 70 25 95 ( 48 47 ) 355
A REFE— 71 24 95 ( 48 47 ) 36.0 46 FHA 1/ 71 19 90 ( 45 45 ) 35.5
S5 = =i 71 20 91 (50 41 ) 40.0 5 FEE 2R 71 17 88 (44 44 ) 355
66 FH EIE 72 15 87 ( 43 44 ) 35.5 6  IBR EE 71 15 86 ( 44 42 ) 36.5
I A =8 73 16 89 (46 43 ) 38.0 FAARINY 7 N -5 ] 71 17 88 ( 45 43 ) 365
8 RH B 73 18 91 ( 49 42 ) 40.0 8hI  FHh Kk 71 12 83 ( 43 40 ) 37.0
Ofr EE E 75 19 94 (48 46 ) 38.5 9fi MK fgh 71 22 93 (49 44 ) 380
106 EFF BBts 75 21 96 (51 45 ) 40.5 106 %k RS 72 20 92 (45 47 ) 350
6 ki g 76 23 99 ( 49 50 ) 375 116 el 72 18 90 (45 45 ) 360
126 HE & 76 14 90 ( 46 44 ) 39.0 126 Wk B4% 72 18 90 ( 46 44 ) 370
137 BARIEX 77 10 87 ( 42 45 ) 37.0 136 #\H —i& 72 15 87 ( 46 41 ) 38.5
1460 N 1817 77 12 89 ( 45 44 ) 39.0 146 EAE=E 72 21 93 (50 43 ) 395
156 &H#H & 77 18 95 (48 47 ) 39.0 1567 #%ik =M 72 15 87 (47 40 ) 395
206 g BE 79 14 93 ( 46 47 ) 39.0 206 =fE HF 75 27 102 ( b2 50 ) 385
250 AL A 79 24 103 ( 54 49 ) 420 250 #a4E 3L 76 18 94 (45 49 ) 360
306 WTR FE 80 11 91 (49 42 ) 435 3047 EM MR 77 14 91 (46 45 ) 390
35 BIF BE 82 23 105 ( 51 54 ) 395 350 TH #A 78 17 95 ( 47 48 ) 38.5
406 RAK &EE 82 10 92 (50 42 ) 45.0 4060 HHB 79 23 102 (53 49 ) 415
457 LTF E— 85 13 98 ( 43 55 ) 36.5 450 AR EZ 81 18 99 ( 47 52 ) 38.0
506 HE 2 88 28 116 (59 57 ) 45.0 5061 BN B— 81 10 91 (48 43 ) 430
60 EE HE 83 30 113 ( 59 54 ) 440
706 @R EXF 856 30 115 ( 62 53 ) 470
BBE /M B 92 25 117 ( 65 52 ) 525 BBE &M %&— 90 30 120 (61 59 ) 46.0
BGY fEE B= 82 (38 44 ) Par 72 A—AL—t  RE—TL—+

BiE(EF) 6,606 vyard 71.3 128

Bi(BR) 6237 vyard 69.5 123

BiE(&) 5892 vyard 68.1 119

BEiE(%) 5,281 yard 64.9 114

(%) 5281  yard 701 123

ZEGR) 4,878  vyard 67.8 119




